
 

 

Answer on Question #53832 – Math – Calculus 

Question 

Find the derivative of f(x) = negative 7 divided by x at x = -3.  

 

Solution 

𝑓(𝑥) = −
7

𝑥
 

𝑓′(𝑥) = (−
7

𝑥
)

′

= −7 (
1

𝑥
)

′

= −7(𝑥−1)′ = −7(−𝑥−2) = −7 ∙ (−
1

𝑥2
) =

7

𝑥2
                 (1)                                

Property of derivative 

(𝑎𝑓(𝑥))′ = 𝑎(𝑓(𝑥))′ 

and well-known formula  from the table of derivatives 

                                                                      (𝑥𝑛)′ = 𝑛𝑥𝑛−1                                                      (2) 

were applied in (1). 

In this problem we put 𝑛 = −1  in (2). 

Thus, it follows from (1) that 

𝑓′(−3) = (
7

𝑥2
)|

𝑥=−3
=

7

(−3)2
=

7

9
 

Answer:   𝑓′(−3) =
7

9
  . 
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